& A\ PHATOUCH"®

AT700AS QUICK START GUIDE

NOTE: SINCE ALPHATOUCH™ IS AN EVER-CHANGING
PLATFORM, PRINTED DOCUMENTATION, SUCH AS THIS
MANUAL, MAY NOT BE 100% UP-TO-DATE. FOR THE MOST
UP-TO-DATE DOCUMENTATION, PLEASE VISIT:

B—— https://www.alphatouch.info/help

Y a

Doorman Management

0

Security

2 #

42 Central Drive Farmingdale, NY 11735-1202

ey £ sy (e : :
”!{’fﬂ Phone: 631-777-5500 | Fax: 631-777-5599

y et http://www.alphacommunications.com

PLEASE SEND US PHOTOS OF YOUR INSTALLATION.
IT COULD BE FEATURED ON OUR SOCIAL MEDIA!
SEND PHOTOS TO: INFO@®ALPHATOUCH.INFO

Copyright© 2018-2020
Alpha Communications® All Rights Reserved
AWD273 — Rev October 2020

Included Hardware Bolt Pattern

@ (s ST4x20 screw x 6 === Screw fixing seat x 6 © |m M3x6 screw x 3 3.425"
@ (m M3x5 screw x 4 ==<_ Ropex 1 @2  Rubbber Plug x 3 (87.0mm)
[=o=|
® Dmw ST1.7X4 x 2 L——  Allen wrench x 1 [ﬂ AT700AS X 1 . .
=
@ Back cover x 1 E@ Locking Cable Plate x 1

B Silicon rubber sealing ring x 1

3.15
(80.0mm)

Installation

Use hand drill with 3/16" (5Smm) diamter bit to . .

Mark the 6 holes of the & ve make holes in the marked positions

wall-mounting box on the wall. - % A S
55 ,:;)_&,1 Please note the relative position in the left
o i figure and the maximum error should less than

. T 3/16" (5mm)

s Fix the wall-mounting box
{7~ with six ST4x20 screws.

.

Insert the screw fixing seats
into the holes you drilled before.

5.04
(128.0mm)

1.85
(47.0mm)

1.712" 1.712"
CONTINUED ON REVERSE (43.5mm) (43.5mm)



Installation Continued

For convenient wiring, hang
AT700AS on the wall-mounting
box/flush-mounting bracket .
with string, then insert the
sillicon rubber sealing ring into
the groove.

Use four M3x5 screws to fix .
the back cover.

ey

Wall Mounting

3,\‘3
‘:}‘«\ 7

plate and rubber plug.

Flush Mounting

Take down the back cover ,locking

Make cables go through the back cover,
connecting to the corresponding
interfaces of the main board. Choose a
suitable size rubber plug to compress
cables , then fasten the locking cable
plate with two ST1.7x4 screws.

1.Place the device into the wall-mounting box /
flush-mounting bracket until the edges of which
align to the wall. Then pull the device downward
and ensure the groove of it hooks to the lock

catches of the back box.

2.Use the Allen wrench to tighten the device with

two M3x6 screws.

ethemnet
(PO

GND v WG- WG-D1 WG-D2 GND Door RS- RS-A RS-B E) NOWC COM
® @00 ® @ @ ® @@
Wiring Terminals
i - . i 4 i . | |
i PoE Switch (or other ‘
Egress Buttons networkin ardware i Door Release
::‘EZEE::; I EQI:::;{’Z““' edi usingW;V E.:we‘:mpu[)’ I' me;A;i!i?‘ws
' Eool/
PWR_GND —
12V w2 Ah
G N D C O M .ﬁ Do(glrelggleca)se
< 5 Mechanism
WG_D1 NC > Compatible
Door Release L
GND NO = Normally
DOORC COM ¢= Ny
Examples 9078 v [B | [ ]
GND Supply
DOORA Ethernet (POE) NO 2
SAB3 Gl v e,
RS485B NC S D(MaanT%S
RS485A = Mechanism
Power




